
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Multiplicar por potencias de diez (número faltante)

6, 897 × ________ = 6897 3, 587 × ________ = 358.7

3, 661 × ________ = 36.61 8, 203 × ________ = 820.3

5, 964 × ________ = 59.64 9, 469 × ________ = 94.69

2, 083 × ________ = 2083 5, 012 × ________ = 50.12

3, 012 × ________ = 301.2 4, 161 × ________ = 4161

2, 109 × ________ = 210.9 1, 224 × ________ = 122.4

7, 899 × ________ = 789.9 7, 295 × ________ = 72.95

8, 248 × ________ = 82.48 5, 405 × ________ = 54.05

5, 957 × ________ = 595.7 5, 823 × ________ = 5823

1, 718 × ________ = 17.18 3, 119 × ________ = 3119
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Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Multiplicar por potencias de diez (número faltante)

6, 897 × 1000 = 6897 3, 587 × 100 = 358.7

3, 661 × 10 = 36.61 8, 203 × 100 = 820.3

5, 964 × 10 = 59.64 9, 469 × 10 = 94.69

2, 083 × 1000 = 2083 5, 012 × 10 = 50.12

3, 012 × 100 = 301.2 4, 161 × 1000 = 4161

2, 109 × 100 = 210.9 1, 224 × 100 = 122.4

7, 899 × 100 = 789.9 7, 295 × 10 = 72.95

8, 248 × 10 = 82.48 5, 405 × 10 = 54.05

5, 957 × 100 = 595.7 5, 823 × 1000 = 5823

1, 718 × 10 = 17.18 3, 119 × 1000 = 3119
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